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Instruction for Question No.- 4-6 : Read the passage and choose the correct

Instruction for Q. 1. @ option.

Ahmadabad., Feb. 15, 2016 } Kabir was one of the great personalities in the history of our country. He lived

: hundreds of years ago, but his poems and teachings are sung with love and
reverence even today. Hindus, Muslims, Sikhs, all think of him as a great Guru,
teacher and religious figure. Kabir taught people devotion and humility. He wrote

couplets and (dohas) and short poems. Though his compositions are short and

A team of Indian and German scientists working near Bhuj in the Kutch
region of Gujrat had found a big fossil of a dinosaur in hill in Lodai village.

On Saturday they found more fossils. The new fossils include skull, jaw, and

some teeth of dinosaur. A sample of fossils has been sent to Munich, Germany simple they convey profound meaning and wisdom
for further testing. L
4. Choose the correct option.
1. The above news tells us about....... | The passage tells us about............
(1) The scientists (2) Ahmadabad (1) SlheShistorygotiouricountry
2) The information about Kabir-a saint poet
(3) Germany (4) Dinosaur fossils @ P

(3) The different religion

2. Complete the dialogue with correct option. (4) Kabir's childhood

Meena -: I am getting ........... It's too cold here. it r ) ] )
Mother-: Don't worry dear. I'll bring sweater for you. S. Which 'Hindi' word is mentioned in the passage?
. g 2) Figure
(1) Bored (2) Confused (DESbne @ Fig
3) Doha (4) Ago
(3) Tired (4) Chilled to bone ) £

6. Complete the web by choosing the correct word.
3. Choose the correct option for the following slogans.
The following slogans are about. =
r Who will keep it clean, if you donLI

T
Don't spoil. don't deﬁlﬂ-—lﬁ 7/ I 2 }—{ grow plants not garbage
T

ﬁ(ecp your area clean and beauliful.J { (1) Love (2) Reverence
(1) Earth (2) Education (3) Environment (4) Cleanliness (3) Devotion (4) Profound meaning
SPACE FOR ROUGH WORK SPACE FOR ROUGH WORK
0822/ Kanuada Set-A 20f32 P.T.O. 0822/ Kannada Set-A 3032 P.T.0.
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7. What is the mood in the following short-note ? | Instruction for Question No. 10-11 : Read the passage and choose the correct
Choose the correct option. option.
I'm always there in your hour of need.

May his\her soul rest I peace. Words fall short to express my SOITOW. Grate a couple of medium sized beetroots and soak them in a little water. After

X a while, you will get a beautiful dark pink-red colour. Add it to a bucketful of water.
(1) Happy (2) Surprise % e A

The red jaswand (hibiscus) flower will give you a deep red colour. Dry the petals
(3) Sad (4) Wonder of Zendu (marigold). Then you can powder them to get an orange colour. Even
you can dry the leaves of neem, mint, corriander, spinach to get a dry green powder.

8. Read the following procedure and choose one correct alternative. d If you crush or grind the fresh leaves you get dry colours and if you add the paste
to water, you get wet colour. So talk to your mother to find out what other things

m in kitchen can give you safe natural colour. Let's celebrate holi with natural colour.
m | 10. Match the pairs.
| A B
m (1) Jaswand (a) Pink-red
m : (2) Spinach (b) Deepred
1 (3) Beetroot (c) Green
(4) Marigold (d) Orange

(1) Washing cloths (2) Making idilis | (1) 1-d; 2-b: 3-a; 4-¢ (2) 1-b; 2-a; 3-c; 4-d

These methods are used for

(3) Making rotis (4) Making desserts (3) 1l-c; 2-d; 3-b; 4-a (4) 1-a; 2-¢; 3-a; 4-d

9. Read the following riddle and choose one correct option.
I'm tall when I'm young.

11. Choose the correct option for the correct title to the passage.

I'm short when I'm old. (1) Colours
What am I ? 1 (2) Celebrate holi with natural colours
()R ice (Candle g (3) Celebration
(3) Egg (4) Stick (4) Festivals are colourful
SPACE FOR ROUGH WORK SPACE FOR ROUGH WORK
0822 / Kannada Set-A 4of32 e T R Eei oA Sof32 PT.O.
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12. Choose the correct alternative. 14. Go through the following diagram and choose correct alternative.

Hrishikesh was awarded as a ‘best student of the year’. Find out three adjectives 1 3
which suits him. The mother asked if The mother asked if
I could saw the rainbow. he could see the rainbow.|
bli|g|s [m|n]o
rlh|lo|nfe|[s]|t The mother said
"can you see the
algloft|t|p|q rainbow?"
v dib h
c o ! 3 7
els |m|p|d|b|q The mother told that The mother asked if
he could see the rainbow she can see the rainbow
(1) Good, honest, brave
(1 4 2) 1
(2) Big, quite, bad
3 \ @ 3 @ 2

(3) Calm, nest, ago
‘ 15. Find out one correct alternative of type of tense of underlined word.

(4) Big, tall, ball
| When a farmer was returning home from the market, dark clouds gathered in

. the sky.
13. Choose the correct alternative from the following. S o mast tcise (O Bt o
U (3) Past continuous tense (4) Future continuous lense

16. Choose two correct alternatives for the following sentences which shows correct
object and its active voice
My toy had been taken away.

(1) The sun is not as hot as tea
(2) The candle is hotter than fire (1) My sister had taken away my toys
i (2) My sister has taken away my toys

(3) The fire is hotter than candle :
(3) My sisters had taken away my toys

(4) The candle is hotter than sun (4) My sister taken away my toys.
SPACE FOR ROUGH WORK 'SPACE FOR ROUGH WORK
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17.

18.

19.

20.

21.

Choose correct alternative.
(1) Quantity (2) Suggestion

(3) Manner (4) Time

Choose the odd man out. Choose one correct alternative.

| a3 (2 4
¥ ¥ ¥ v
can may must do 3) 1 @) 2

@ e
Choose one correct alternative of the following.
Last week grandfather wanted to visit Kashmir. He booked tickets.
(1) Noun (2) Verb
(3) Adverb (4) Adjective

Choose one correct alternative to form exclamatory sentence.
a / what / dream / it / horrible / is !

(1) What a horrible dream it is! (2) What a dream horrible it is!

(3) It is what a horrible dream! (4) What it is a horrible dream!

Choose the correct alternative. Find out the word which has not suffix.

®© | @

Subscription| Mention

1) 4 @ 2
® ® @ 3 i
Description | Prescription

SPACE FOR ROUGH WORK

0822 / Kannada Set-A 8 of 32

P.T.0.

22. Choose two correct alternative from the following.

Dinosaur were reptiles. There were many different types of dinosaurs. All
dinosaurs did not look

(1) Different (2) Similar

(3) Unlike (4) Alike
23. Read the following sentences. Choose the correct alternative.
When Mr. Yadav gets back from his office, he expects his servant to have a
hot meal waiting .............. him.
(1) For (2) At
(3) From @) of
24. Choose correct alternative from the following options.
Which word is related to ‘eye"?
(1) Cite (2) Site
(3) Sit (4) Sight
25. Choose the correct alternative from the following options. Find the correct
phrase.
Viraj is very good at Maths. He is a good singer. He is the champion of cricket.
He loves swimming. He is ...................
(1) Very brave (2) Jack of all trades
(3) Good at studies (4) Good friend
SPACE FOR ROUGH WORK
0822 / Kannada Set-A 9 of 32 P.T.O.
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[ABCDE | FGHIJ [ KLMNO | PQRST | UVWXY | [ABCDE | FGHIJ | KLMNO | PQRST | UVWXY |
SECTION-IT SECTION-TI

INTELLIGENCE TEST

INTELLIGENCE TEST

26. Form a meaningful word from the letters PTECSIROIND Use numerals 1, 2,
....... for every letter. Find the correct option from the following that makes a
meaningful word from the word so formed.

()3=35 (2331 (3) 43,5 4) 1= 2
@F7: Syl @3, 1,2 3 5 21 @) 2,45 K
2 - 3 2 L 27. s3gEndadd wondced Bdadch BEIN0S FSRE ¥o3dn Hed SHT YEINY dad SR ?
27. From the given alphabet series, choose the pair from the given options, which ( Staemaths 2 Fotweabns, ok, SRao
is at an equal distance from the 11th letter from the right. [select two correct
. £
Alzanatives) M) D R @ E X @7 T @ P E
(1) D, R @ F X (E)) ALY 4) P, F

T, 28 =3, 29 T xeomen wod SROE A0 A0 B, YIY LI T som0.
Q. 28 and 29 Directions : Study the following number series and answer the
questions that follow :

2IBI3 A2 USH3 2 315147211 450 3 3L 2. 5SEAONINSIBRARIESEIWINA SV 3

23342532354214233254215342532423

28. e‘n-{ o8 SRdohd), DD Rosloh sad FHTo, N, U & DFD Romab Saden XhXod) R et oy
Sed wodd ?
28. How many times an odd number is immediately followed by an even number

but not preceded by even number. @se @4
(1) Six (2) Four (3) Five (4) Seven ®3)s @7
29. In the given number series, which number has occurred highest number of ¥ 29. #ay, wo SROTR, ot vod S84, Fi, Sed woad 2
times ? )4 )3
1) 4 ?)3 3) 2 @) s f 6)2 @5
SPACE FOR ROUGH WORK
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[ABCDE | FGHIJ | KLMNO | PQRST | UVWXY |

Q. 30 and 31 Directions : In the following venn diagram, triangle represents
doctors, circle represents farmers, hexagon represents authors and quadrilateral represents
carpenters.

30. Which of the following options indicate carpenters who are farmers.

(1) JKLI (2) IEFG (3) EFDC (4) HCLM
31. Which of the following letter indicates doctors who are only authors.

(1) K @ A

B3) M (4) None of the above.

32. Find the position of the 7th letter which is to the left of 12th letter in the given
alphabet series. [select two correct options]

(1) 21st from right (2) 21st from left
(3) S5st from right (4) S5st from left
33. 150 streamers of different colours are arranged in a garland. The colours follow

a specific sequence, red, yellow, green, blue, violet, white and orange. Which
of the following option will not carry violet coloured stream ? [select the correct

alternatives]
(1) 68 (2) 89 3) 115 (4) 94
SPACE FOR ROUGH WORK
0822 / Kannada Set-A 12 of 32 J

P.T.0..
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12, 30 2, 31 O Hovmon Reud: o S w,3chO, 3BAHEO, By Y, SHEVHY, J¥0h, MEAFEHE dedids
e, WEAEEE word wmd.

30, wges3s e LA iR ¢y Ened FatoRoand
(1) JKLI (2) IEFG (3) EFDC )

31, fedio o7 SRS @Y T, o ©I00D aoRTND
1) K @ A 3) M

32, eggandobooh S gach wige od nosh ouds VEUT R atmeabr o
(1) wennones wFBn e
(3) wened nodey

33. womd co0d, wRIHTN EeXO, OB, Tack, A, o, W,
Toineahnd B8 SRS ISRoEs whed gomd LR T

(1) 68 )89

0822 / Kannada Set-A
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34. Akshay is younger than Vishal by 125 days. Akshay is born on Saturday. 13th
Aug. On which day was vishal born ?

(1) Sunday, 10th April

(2) Friday, 16th December
(3) Sunday, Sth April

(4) Thursday 15th December.

35. Find the number of quadrilaterals in the given figure.

1 12
@) 17

@2 8
@ 14

36. In the following series, determine the rule and find out the term in place of the
question mark.

DBHDHD
g7 7 N7 N7/

@ 18 @) 21
3) 26 @) 23
'SPACE FOR ROUGH WORK
0822 / Kannada Set-A -

140132 e

34 Zeainves Latr 125 ourds weEm. worb Jed LIF wa, erixe) 13, Zameddord engd Feaind w3 o
BFdeh UNBHZH 7 .

(1) 10 ayer, goma

2) 16 aRouer, Bgms

(3) 9 sayer, damo )
4) 15 agoucr, o

35000 ek, 91,0000, IRV wky, Hod), oz, ?
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[ABCDE | FGHIJ [KLMNO | PQRST | UVWXY|

Q. 37 to 39 Directions :

Identify the rhythmic arrangement of terms given below

and find the correct term in place of the question mark.

372

38.

39.

41.

MSTUNUNMSTSTUNMNMST??2?2NMS
(1) UTU (2) STM 3) UTS (4) MSU

42571868175242571827527271757

I 1, 8,7 22, 5,7 3)1,2,5 @ 1,5 7

O*%A+O X *[0JA+XO*A0%X+017777 +0O
(1) *O0xaA (2) Ax %0
(3) *xax0O (4) *A+0

Pramod’s present age is double of Amir’s present age. Pramod is younger by
2 years than double the age of Sarvesh, but Harshal is elder by three years.
Krishna, who is elder by three years than Harshal was 14 last year, If these are
arranged in ascending order of their ages who will be at the center 7

(1) Pramod (2) Sarvesh (3) Krishna (4) Harshal
In a centain code language ‘SOON’ is written as ‘OOSN’, *APPLE’ is written
as ‘PPALE’, then how will you write “TEETH’ in the same code language 7
1) EETHT 2) ETTEH (3) BETTH (4) EHTTE

42, A bus staried at 640 am. travels at a speed of 45km/hr, At what time it will

reach another place which is at a distance of 375 km 7

1) 255 pm 2) %00 pm () 2,05 p.m @) 2.50 p.m
HACE ¥ ORIOUGH WORK,
9401 ) Ymmmadts A1 f WA w0,

I

[ ABCDE [ FGHIJ | KLMNO | PQRST | UVWXY |

Rarts 59, 37 0ot 39 o o doy WYIve, wobuc) shourlohgoh g, bhan, WY, Usieh A9E0 ks B
ﬂm:aaneou €010,

WIMSTUNUNMSTSTUNMNMST???NMS

(1) UTU (2) STM (3) UTS 4) MSU a
384257186817524257187275227175 72 :
m 1,87 (2)8285%7 @) 1,25 (4)RIRSTe

V. OAXA+O X *#A+X O * AL X +0O 2222 +O
(1) > xaA (2) A* %0
(3) *axD E (4) *a+0)

40, 5007 OERR SehiF AT b, BEMCHOS, AT odth PP SOt HEF
Helr Bagsin Hord wEre, BHEONoY Tt SHE Bag St uhl, Ll
ERIRCIS A0 TN GOB YThl, SEHOY THETINSE, oind) AThEs: 1
() zare

(2) #ssn (3) wvater

41, mﬁmlmmlwq, nﬂw T O T, W oot
Lleinmd, TRIRG WOt tadon), ‘SRR G T F, o

(1) mypmcm @ "!PW

2, wsmt,m,musm
nwnmm;'i

(1) womp, 0255 ¥,
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Q. 43 to 47 Directions— In each of the following questions, reletion between 3rd
and 4th term is the same as that of between the first and the second. Find the term
to replace the question mark.

43. Equal : Congruent : : Characteristrics : ?
(Select two correct alternatives)

(1) Features (2) Personality (3) Properties (4) terms

44. Water : H,O : : Salt : : ?
(1) KCI (2) NaOH . (3) NaCl (4) HCI

45. 253 : 450 : = 341 : ?  [Select two correct alternatives]

1) 360 .(@)s512 (3) 146 “@ 72

46. MOQ : PRU : : ? : NPS
(1) UWY (2) KMO (3) JHF (4) JLP.

7.
[OH | (g
(1) (2) 3)
SPACE FOR ROUGH WORK
0522/ Kannadn SctA. 180f32
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Aaud : 33, 43 ood 47 o SO - Lacio So BIYO, Hetso? rohan, Sacdeh hab, Uah o ucl oo
Y, YIch 19O wohd Hetneod woso. N )

43, moud ¢ Shard : : o ; 7
(20@ chaer, Totmeah ©OKD)

(1) mem @) w3 @) 202 @
44.3eh : HO: = vy 2 2 .

(1) KCL (2) NaOH (3) NaCl
45.253 : 450 :: 341 ; ? (o9m ofatr, Watwead @OAO)

(1) 360 @ s12 @) 146

46.MOQ - PRU - : 7 - NPS
(1) UWY ) KMO

47 =

@ ‘
S
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Q. 48 to 50 Directions : Study the following Pyramid.
25
36 33
20 38 14
32 35 24 12
13 26 22 31 21
17 37 19 29 16 30
18 27 11 34 23 28 15

48. 20 32 26 : 31 24 14 : : 32 13 37 : ? [Select two correct alternatives]

(1) 29 31 24 (2)29 22 24 3) 12 31 16 (4) 16 31 12
49. V185273029 = 32350191 57

(1) 31 21 (2) 22 31 (3) 21831 @ 29 16
50. 18 27 37 19 34 2 ? 30

1 29 23 (2)23 16 3) 29 16 (4) 23 28

51. Identify the mirror image of the question figure when a mirror is held as shown
in the diagram.

-~

Question Figure Answer Figure

Bk | B A B | AL

@ @ 3) 4)

SPACE FOR ROUGH WORK

0822 / Kannada Set-A 20 0f 32
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#ats: g3, 48 0o S0 9 xewmn ¢ dung HoamMatahd WimAND Thah, ofatr, alneah MOXO. ]

25
36 33
200" 38 T4
3235 o4
138 1261 220 o t
17 37 19 29 16 30 uy A
18570 11 34 o o 5 R

o w

48.20 32 26 : 31 24 14 :: 32 13 37 : 7 ( oo olatr dotmeshriva 4040 )
(1) 29 31 24 (2 2922 24 @) 12 31 16
49.13 27 : 1929 : : 35 19 : 2

1y 31 21 @ 231 @) 21 31
50.18 27 37 19 34 2 2 30
(1) 29 23 () 2316

S1. 24, o368 s@cbOcS FamonsRy s
983
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52. Find out the rule underlying the arrangement of numbers in the following
question and choose the correct alternative that will replace the question mark.

o o o o

1 30 @) 36 3) 33 “) 77 {

Q. 53 to 57 Direction— In the following series, determine the rule underlying the
series and find out the term in place of the question mark.

53. 2, 6, 16, 38, 84, ? 368

(1) 176 (2) 168 (3) 186 “4) 178

“ ON APASAQIIORAR *
o AD o A ® A O @ A

55. BC, CF, EI, GL, KO, ? QU.

(1) MS (2) NR (3) MR (4) OR
56. 2, 9, 40, 153, 450, ?
(1) 889 (2) 891 (3) 900 (4) 879

57. ?

g )

) (2) 3) “)

AN
<

SPACE FOR ROUGH WORK

0822 / Kannada Set-A 22 0f 32 PT.0.
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52, RoBTi¢ HhodIhO o Xng rochas, T2, 4900 3 Fatwech Holweah OO,

o o oo o

(1) 30 @ 36 (3) 33 @ 77

Bavdd : 53 000 57 Heseh : Sk, HROdeho, ghmn g, wEnY Yo whd o, HolwEoh SO ¥

. 368 - '

i
@ 178 3 j
i

“ONAPALADILOHAX ? » gt
o AD QA e A & @

55.BC, CF, EI, GL, KO, ?, QU

53.2, 6, 16, 38, 84, ?

1y 176 (2) 168 (3) 186

(1) MS ' (2) NR @) MR
56.2, 9, 40, 153, 450, ?

(1) 889 () 891 (3) 900

s7.
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Q. 58 and 59 Directions— A, B, C. D, E, F, G, H are the eight boys standing in
a circle facing each other, at an equal distance. D is standing next to A to his right
and E is in front of him. B is standing next to H, to his right and is in front of
G. In front of C. to the south D is standing; but F is not next to D.

58. Which direction H is facing ?
(1) North-East
(3) South-East

(2) South-West
(4) North-West

59. Who is standing to the East ?
@ C @B 3) G @) H

Q. 60 and 61 Directions— In the following questions a question figure is given,
Identify its water image from the given alternatives.

60. Question Figure Answer Figure

4971 |99 [N 2L Se)

@ @ 0 3 (4) i

61. Question Figure Answer Figure

TId| |daltl et | dsite| PR

@ @ 3) (4)

59. aTed, o AosT ?

SPACE FOR ROUGH WORK
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9, 58 002 59 0 Xevmn Rawdd 1 woch Idevond RS wous e ©, v, 8, B, %, F, M, & bt dokd DY
AR ¥o30d Dheed wond Shosna 03P, uTY, ‘@’ 3 wondt deade ‘@ sy oot ‘=’ Ao, ‘W’ wTH
'’ 8 woudH Bsddt aoh em T 3 acsort amd. ‘3’ 3 acort Syed, ‘@ Reamd, eEd ‘@ wort 3, Se.

58.‘w’ 3 om0 B8 cnmyh 2
(1) s @2

() e @) =t

1 = : @) »
@) ) = :
FeuS: BB, 60 cor 61 B FevTN : YTE 3o BOPSWow ToIwEHNTD SO0,

60. =2 ug 037 ug

457| |53 [y [¢es[ 42y
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Q. 62 to 66 Directions— Find the odd term.

62. (1) Hour-our (2) Cloth-clothe
(3) There-their (4) Seen-scene
63. (1) 327 (2) 844
(3) 532 @ 627
64. (1) Italy-Rome (2) Germany-Berlin
(3) U.S.A-New York (4) Egypt-Cairo
65. (1) ADH (2) RVY
(3) KNR (4) FIM
B ® @ @
(6] @) 3) )

67. Different Faces of a cube with symbols [J, O, A, *, X, and © are given
below. Symbols on opposite faces are given in the alternatives. Which alternative
shows the symbols that are not on the opposite faces.

(1) O and O (2) A and * (3) X and O @) O and
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%2 B8, 62 0o 66 ¢ TS : rhoarnt HoRaemd TS, eor0.

62.(1) 2o @ ==
©) w ‘ @ =3
63. (1) 327 (2) 844
() 532 @) 627

64. (1) =89 - Saer (2) ==bed - wO=F

(3) etom xooiny, Ao ~ Bacinee (@) smz- ggae
65.(1) ADH (2) RVY -

(3) KNR (4) FIM

® @

@ @)

67. wodte pem FEY e O, O, A, *, B, o8, © =
STH-WDOFT TyHnid e uZnd Hﬂm 5
U e amhcd 2ch0F HFY Shed whPoe?
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68. From the following number series, find the odd term.
12, 15, 20, 23, 28, 34, 38, 45

(1) 34 2) 20

(3) 28 @) 45

Q. 69 and 70 Directions— In a certain code language ‘I eat chappati’ is written as
BAN. ‘I sell books™ is written as CNO and ‘Amar reads books’ is written as OBM.
Then.

69. Which letter is used for the word ‘sell’ ?
1 N 20 3) C 4 A

70. Which letter is used for the word ‘I" ?
(1) B @c 3) o ) @) N

Q. 71 and 72 Directions—Choose the correct figure from the alternatives which
exactly matches with the question figure.

71. Question Figure  Answer Figure

72. Question Figure

2)

Answer Figure

D PP PSP

(4)

®) &

®

V4 \VZ
(SO )] 3) (6
SPACE FOR ROUGH WORK
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68. xomm, SROBHO obh dxh BT, Wodweanrivod HOXO.

12, 15, 20, 23, 28, 34, 38, 45
- (34 (2) 20 © (3) 28 (4) 45
T, 69 oot 708 3D : rowh modess gnche, ‘mh Snep 3% & wEEM, BAN oo wdnd, ‘e 3¢, S
" @ Ty CNO a0 uddd e, ‘ury, 29, 333" am s OBM soch wdansd.

RS

69. ‘Sm’ & FumN cine modedd g wond ?

(1) N @ o (ONe @) A
70, ‘b’ S Bymp ons modtss vgT wond ? -
(1) B @ c 3) o @N

2, 71 ooy 72 0 =31 : ¥, ed,31t Xocinn Sacchs £¥,d AckRechded e00O. e

7. ZZug w3 ug 5

72.
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73. A square sheet of paper is folded and cut as shown in the question figure. How 73. 2, S¥3SQ BT ricd 308 ¢ 283, 7eno uof FE0MIS, SA0RCNT.E TG Jebon oS oY 3
will the figure look like when the paper is unfolded. Choose the correct S imens 2
alternative.
¥ i
5 L f i i
: ¢ i :
1 LI :
= - ; &) @) 3) @) T
(D) 2) 3) “) &

74. T2, ¢5,3chY sdht:T yart ToiRechoen £040 y

74. Find the hidden part of the question figure from the alternatives given.

S ElaTE

| (€] @ 3)

(1) 2) (3) @)

|75, 824053 s 4 3ok, Hane SRdes olat Hanral S0A0
75. Choose the correct alternative to complete the question figure,

Q\M@@V@

() (2) 3) ) i

e
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